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2018 | 2019 | 2020 | 2021 | 2022
¥l awsall | 10 | 12 | 15 | 20 | 25
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Y XY — nXY
Y X2 — nX?
a=Y-bX=13.77
Y=13.77+1.57X

b =1.57

2023 4l zly) duas a8 .4
Y2023 =Yi6+ V7 + Vg =
13.77 +1.57(16) + 13.77 +1.57(17) + 13.77 + 1.57(18) = 121.38
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A A il Gupdl 102 (e
Y, =&+ P&
E(Y,) =E(e; + Bg_1) = E(g) + PE(g4-41) =0

V(Y =V(e + Be—1) = V(g + ﬁZV(et_l) +2C0V(g5,_1) = V(e)(1 + ﬁz) — cst

Cov(Y;.Yeyy) = E[(Yy = V) (Ve — Y)] = E[(&¢ + BEr—1) (Ersk + BEr+k-1)]
= E(&&041) + BE(&¢8r4k-1) + BE(€¢—18¢41) + BPE(€4-1&¢1k-1)
if COV (Y..Y,,) = BE(€2) = BV(g,) — cst
if k>1 COV (YY) =0
Bytiana ¥, Aleadaad) (o dlag
Y, =Y, 1+ &
EY) =E(Y;q1+&)=EY;4)

VYY) =V(Xg+&)=V()+V(e) VI #V(¥q)
Biiwa b ¥V, dluld) 8 diag
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